1. [Is balanced with no deficit]

Given the state of Canada's economy today, to what extent do you support or oppose the government proposing a budget that...

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$S60K $60K - $100K+ Kids No Kids
<$100K
A B C D E F G H | J K L
Base: All Respondents 1008 127 107 73 368 237 96 216 184 268 230 247 761
Weighted 1008 135 107 66 386 242 72 270 203 244 179 230 778
‘Is balanced with no deficit
Strongly support 394 44 44 26 163 90 28 82 87 93 80 92 303
39% 32% 41% 39% 42% 37% 39% 30% 43% 38% 45% 40% 39%
Somewhat support 353 57 36 25 115 98 23 115 66 75 52 81 272
35% 42% 34% 38% 30% 40% 32% 43% 33% 31% 29% 35% 35%
D* * * D * 1
Somewhat oppose 188 28 20 12 77 38 13 51 41 53 32 46 142
19% 21% 18% 18% 20% 16% 19% 19% 20% 22% 18% 20% 18%
* * * *
Strongly oppose 72 6 8 3 31 16 8 22 9 23 14 12 61
7% 5% 7% 5% 8% 7% 11% 8% 4% 9% 8% 5% 8%
* * * *
Top2Box (Support) 748 101 80 51 279 188 50 196 153 168 132 173 575
74% 74% 74% 77% 72% 78% 70% 73% 76% 69% 74% 75% 74%
* * * *
Low2Box (Oppose) 260 35 27 15 108 54 21 73 50 76 47 58 203
26% 26% 26% 23% 28% 22% 30% 27% 24% 31% 26% 25% 26%
* * * *

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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1. [Runs a $10 billion dollar deficit]

Given the state of Canada's economy today, to what extent do you support or oppose the government proposing a budget that...

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$S60K $60K - $100K+ Kids No Kids
<$100K
A B C D E F G H | J K L
Base: All Respondents 1008 127 107 73 368 237 96 216 184 268 230 247 761
Weighted 1008 135 107 66 386 242 72 270 203 244 179 230 778
‘Runs a $10 billion dollar deficit
Strongly support 87 10 8 8 36 19 7 20 18 26 16 15 73
9% 7% 7% 12% 9% 8% 9% 7% 9% 11% 9% 6% 9%
* * * *
Somewhat support 465 75 51 31 180 96 32 116 105 110 89 98 367
46% 56% 48% 47% 47% 40% 45% 43% 52% 45% 50% 43% 47%
E* * * *
Somewhat oppose 270 31 27 14 95 78 24 78 47 65 46 72 198
27% 23% 26% 21% 25% 32% 34% 29% 23% 27% 26% 31% 25%
* * * *
Strongly oppose 186 19 21 13 75 49 9 55 33 42 28 45 141
18% 14% 19% 19% 19% 20% 12% 20% 16% 17% 16% 20% 18%
* * * *
Top2Box (Support) 552 85 59 39 216 115 39 136 123 136 105 113 439
55% 63% 55% 59% 56% 47% 54% 51% 60% 56% 59% 49% 56%
E* * * *
Low2Box (Oppose) 456 50 48 27 171 127 33 133 80 108 74 117 339
45% 37% 45% 41% 44% 53% 46% 49% 40% 44% 41% 51% 44%
* * * A *

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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1. [Runs a $20 billion dollar deficit]

Given the state of Canada's economy today, to what extent do you support or oppose the government proposing a budget that...

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$S60K $60K - $100K+ Kids No Kids
<$100K
A B C D E F G H | J K L
Base: All Respondents 1008 127 107 73 368 237 96 216 184 268 230 247 761
Weighted 1008 135 107 66 386 242 72 270 203 244 179 230 778
‘Runs a $20 billion dollar deficit
Strongly support 40 8 6 * 11 12 3 12 8 9 7 7 33
4% 6% 5% 1% 3% 5% 4% 4% 4% 4% 4% 3% 4%
* * * *
Somewhat support 224 36 18 17 90 42 21 62 47 54 36 58 166
22% 27% 17% 25% 23% 17% 29% 23% 23% 22% 20% 25% 21%
* * * E*
Somewhat oppose 354 38 35 19 152 86 24 103 78 70 67 87 267
35% 28% 33% 29% 39% 35% 33% 38% 38% 29% 38% 38% 34%
* * * *
Strongly oppose 390 53 48 30 133 102 24 93 69 111 68 78 312
39% 39% 45% 46% 34% 42% 34% 35% 34% 45% 38% 34% 40%
Top2Box (Support) 264 44 24 17 102 54 24 73 56 63 43 66 199
26% 33% 22% 26% 26% 22% 33% 27% 28% 26% 24% 29% 26%
* * * *
Low2Box (Oppose) 744 91 83 49 285 188 48 196 147 181 135 164 579
74% 67% 78% 74% 74% 78% 67% 73% 72% 74% 76% 71% 74%
* * * *

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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1. [Runs a $30 billion dollar deficit]

Given the state of Canada's economy today, to what extent do you support or oppose the government proposing a budget that...

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$S60K $60K - $100K+ Kids No Kids
<$100K
A B C D E F G H | J K L
Base: All Respondents 1008 127 107 73 368 237 96 216 184 268 230 247 761
Weighted 1008 135 107 66 386 242 72 270 203 244 179 230 778
Strongly support 33 3 2 * 11 13 3 14 7 7 2 6 27
3% 2% 2% 1% 3% 5% 5% 5% 4% 3% 1% 3% 3%
* * * *
Somewhat support 122 22 10 7 50 19 14 41 24 25 18 25 97
12% 16% 9% 11% 13% 8% 20% 15% 12% 10% 10% 11% 12%
E* * * E*
Somewhat oppose 286 34 34 14 120 65 19 79 64 64 43 78 207
28% 25% 32% 21% 31% 27% 27% 29% 32% 26% 24% 34% 27%
* * * *
Strongly oppose 568 76 61 45 205 145 35 136 108 148 115 121 447
56% 57% 57% 68% 53% 60% 49% 50% 53% 61% 65% 52% 57%
* * DF* * G GH
Top2Box (Support) 155 25 12 7 61 32 17 55 31 32 21 31 124
15% 18% 11% 11% 16% 13% 24% 20% 15% 13% 12% 13% 16%
Low2Box (Oppose) 853 110 95 58 325 210 54 214 172 212 158 199 654
85% 82% 89% 89% 84% 87% 76% 80% 85% 87% 88% 87% 84%

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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1. [Runs a $40 billion dollar deficit]

Given the state of Canada's economy today, to what extent do you support or oppose the government proposing a budget that...

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$S60K $60K - $100K+ Kids No Kids
<$100K
A B C D E F G H | J K L
Base: All Respondents 1008 127 107 73 368 237 96 216 184 268 230 247 761
Weighted 1008 135 107 66 386 242 72 270 203 244 179 230 778
Strongly support 33 3 5 1 12 10 2 9 7 10 2 6 27
3% 3% 5% 1% 3% 4% 3% 3% 4% 4% 1% 2% 4%
* * * *
Somewhat support 87 13 6 5 33 21 9 34 18 13 10 17 70
9% 9% 6% 7% 8% 9% 13% 12% 9% 5% 6% 8% 9%
Somewhat oppose 241 33 25 11 112 42 18 72 62 50 33 59 182
24% 25% 23% 16% 29% 17% 26% 27% 30% 21% 19% 25% 23%
Strongly oppose 647 86 71 50 230 169 42 155 116 170 133 148 499
64% 63% 66% 76% 59% 70% 59% 58% 57% 70% 75% 64% 64%
* * DF* D * GH GH
Top2Box (Support) 120 16 11 5 45 31 11 43 25 24 12 23 97
12% 12% 10% 8% 12% 13% 16% 16% 13% 10% 7% 10% 12%
* * * * J
Low2Box (Oppose) 888 119 96 60 341 211 60 227 177 220 167 207 681
88% 88% 90% 92% 88% 87% 84% 84% 87% 90% 93% 90% 88%
* * * * G

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/),K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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1. [SUMMARY - TOP2BOX (SUPPORT)]

Given the state of Canada's economy today, to what extent do you support or oppose the government proposing a budget that...

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$S60K $60K - $100K+ Kids No Kids
<$100K
Base: All Respondents 1008 127 107 73 368 237 96 216 184 268 230 247 761
Weighted 1008 135 107 66 386 242 72 270 203 244 179 230 778
Is balanced with no deficit 748 101 80 51 279 188 50 196 153 168 132 173 575
74% 74% 74% 77% 72% 78% 70% 73% 76% 69% 74% 75% 74%
* * * *
Runs a $10 billion dollar deficit 552 85 59 39 216 115 39 136 123 136 105 113 439
55% 63% 55% 59% 56% 47% 54% 51% 60% 56% 59% 49% 56%
E* * * *
Runs a $20 billion dollar deficit 264 44 24 17 102 54 24 73 56 63 43 66 199
26% 33% 22% 26% 26% 22% 33% 27% 28% 26% 24% 29% 26%
* * * *
Runs a $30 billion dollar deficit 155 25 12 7 61 32 17 55 31 32 21 31 124
15% 18% 11% 11% 16% 13% 24% 20% 15% 13% 12% 13% 16%
Runs a $40 billion dollar deficit 120 16 11 5 45 31 11 43 25 24 12 23 97
12% 12% 10% 8% 12% 13% 16% 16% 13% 10% 7% 10% 12%
* * * * J

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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1. [SUMMARY - LOW2BOX (OPPOSE)]

Given the state of Canada's economy today, to what extent do you support or oppose the government proposing a budget that...

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$60K $60K - $100K+ Kids No Kids
<$100K
Base: All Respondents 1008 127 107 73 368 237 96 216 184 268 230 247 761
Weighted 1008 135 107 66 386 242 72 270 203 244 179 230 778
Runs a $40 billion dollar deficit 888 119 96 60 341 211 60 227 177 220 167 207 681
88% 88% 90% 92% 88% 87% 84% 84% 87% 90% 93% 90% 88%
* * * * G
Runs a $30 billion dollar deficit 853 110 95 58 325 210 54 214 172 212 158 199 654
85% 82% 89% 89% 84% 87% 76% 80% 85% 87% 88% 87% 84%
Runs a $20 billion dollar deficit 744 91 83 49 285 188 48 196 147 181 135 164 579
74% 67% 78% 74% 74% 78% 67% 73% 72% 74% 76% 71% 74%
* * * *
Runs a $10 billion dollar deficit 456 50 48 27 171 127 33 133 80 108 74 117 339
45% 37% 45% 41% 44% 53% 46% 49% 40% 44% 41% 51% 44%
* * * A *
Is balanced with no deficit 260 35 27 15 108 54 21 73 50 76 47 58 203
26% 26% 26% 23% 28% 22% 30% 27% 24% 31% 26% 25% 26%
* * * *

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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2. [ would rather the government raise taxes on people like me than run a larger budget deficit..

To what extent do you agree or disagree with the following statements:

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$S60K $60K - $100K+ Kids No Kids
<$100K
Base: All Respondents 1008 127 107 73 368 237 96 216 184 268 230 247 761
Weighted 1008 135 107 66 386 242 72 270 203 244 179 230 778
| would rather the government raise taxes on
people like me than run a larger budget deficit.
Strongly agree 49 4 4 * 21 17 4 17 15 10 4 14 36
5% 3% 4% 1% 5% 7% 5% 6% 8% 4% 2% 6% 5%
* * * * J
Somewhat agree 163 28 9 16 63 34 12 48 32 39 26 35 127
16% 21% 9% 25% 16% 14% 17% 18% 16% 16% 15% 15% 16%
B* * B* *
Somewhat disagree 433 56 55 22 185 89 25 103 74 107 98 100 334
43% 42% 51% 34% 48% 37% 34% 38% 36% 44% 55% 43% 43%
* CEF* * EF * GHI
Strongly disagree 362 47 38 27 117 102 31 101 81 88 51 81 281
36% 35% 36% 41% 30% 42% 44% 38% 40% 36% 29% 35% 36%
Top2Box (Agree) 212 32 13 17 84 51 16 65 48 50 30 49 163
21% 24% 13% 26% 22% 21% 22% 24% 24% 20% 17% 21% 21%
* * * *
Low2Box (Disagree) 796 103 93 49 302 192 56 204 155 194 149 181 615
79% 76% 87% 74% 78% 79% 78% 76% 76% 80% 83% 79% 79%
* * * *

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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2. [The Liberals knew that they couldn't keep the budget deficit to $10 billion during the election, but they said it anyway just to get elected.

To what extent do you agree or disagree with the following statements:

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$S60K $60K - $100K+ Kids No Kids
<$100K
Base: All Respondents 1008 127 107 73 368 237 96 216 184 268 230 247 761
Weighted 1008 135 107 66 386 242 72 270 203 244 179 230 778

The Liberals knew that they couldn't keep the
budget deficit to $10 billion during the election,

but they said it anyway just to get elected.

Strongly agree 291 27 35 27 125 66 11 69 54 77 53 63 229
29% 20% 33% 41% 32% 27% 15% 26% 26% 32% 30% 27% 29%
* AF* AEF* AF F *
Somewhat agree 343 47 37 21 107 103 29 90 75 76 62 69 274
34% 35% 34% 33% 28% 42% 40% 33% 37% 31% 35% 30% 35%
Somewhat disagree 301 47 29 13 125 60 27 91 60 68 52 78 222
30% 34% 27% 20% 32% 25% 38% 34% 30% 28% 29% 34% 29%
Strongly disagree 73 15 5 4 30 14 5 20 14 23 11 20 53
7% 11% 5% 6% 8% 6% 7% 7% 7% 10% 6% 9% 7%
* * * *
Top2Box (Agree) 635 74 72 49 232 169 40 159 129 153 115 132 503
63% 55% 68% 74% 60% 70% 55% 59% 63% 63% 64% 57% 65%
* * AF* ADF *
Low2Box (Disagree) 373 61 35 17 155 74 32 111 74 91 64 98 275
37% 45% 32% 26% 40% 30% 45% 41% 37% 37% 36% 43% 35%
CE* * * E CE*

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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2. [The Liberals should not run a higher deficit than they promised during the Federal Election.’

To what extent do you agree or disagree with the following statements:

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$S60K $60K - $100K+ Kids No Kids
<$100K
Base: All Respondents 1008 127 107 73 368 237 96 216 184 268 230 247 761
Weighted 1008 135 107 66 386 242 72 270 203 244 179 230 778
The Liberals should not run a higher deficit than
they promised during the Federal Election.
Strongly agree 330 29 37 29 134 77 23 74 73 81 60 69 261
33% 21% 35% 44% 35% 32% 33% 28% 36% 33% 33% 30% 34%
Somewhat agree 403 56 44 21 135 117 30 122 68 94 70 101 302
40% 41% 41% 32% 35% 48% 42% 45% 33% 38% 39% 44% 39%
Somewhat disagree 222 37 23 15 99 32 17 55 53 53 41 51 171
22% 27% 22% 22% 26% 13% 24% 21% 26% 22% 23% 22% 22%
Strongly disagree 53 13 2 1 19 16 1 18 8 16 8 10 44
5% 10% 2% 1% 5% 7% 1% 7% 4% 7% 4% 4% 6%
Top2Box (Agree) 733 85 81 50 269 194 54 196 141 175 130 169 563
73% 63% 76% 77% 70% 80% 75% 73% 70% 72% 73% 74% 72%
Low2Box (Disagree) 275 51 26 15 118 48 18 73 62 69 49 61 215
27% 37% 24% 23% 30% 20% 25% 27% 30% 28% 27% 26% 28%
E* * * E *

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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2. [Stimulating the economy through deficits and infrastructure spending is the right thing to do right now..

To what extent do you agree or disagree with the following statements:

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$S60K $60K - $100K+ Kids No Kids
<$100K
Base: All Respondents 1008 127 107 73 368 237 96 216 184 268 230 247 761
Weighted 1008 135 107 66 386 242 72 270 203 244 179 230 778
Stimulating the economy through deficits and
infrastructure spending is the right thing to do
right now.
Strongly agree 114 20 13 6 49 18 8 27 20 35 21 25 89
11% 14% 12% 10% 13% 8% 11% 10% 10% 14% 12% 11% 11%
* * * *
Somewhat agree 455 78 43 36 159 101 38 116 96 109 89 106 349
45% 58% 40% 55% 41% 42% 53% 43% 48% 45% 50% 46% 45%
Somewhat disagree 336 26 36 18 138 95 22 101 72 74 51 81 255
33% 19% 34% 27% 36% 39% 30% 37% 36% 30% 29% 35% 33%
Strongly disagree 103 12 14 5 40 28 4 26 15 26 18 18 85
10% 9% 13% 8% 10% 12% 5% 10% 7% 11% 10% 8% 11%
* * * *
Top2Box (Agree) 569 97 57 42 208 119 46 143 116 143 110 131 438
56% 72% 53% 65% 54% 49% 64% 53% 57% 59% 61% 57% 56%
BDE* * E* E*
Low2Box (Disagree) 439 38 50 23 179 123 26 127 87 100 69 99 340
44% 28% 47% 35% 46% 51% 36% 47% 43% 41% 39% 43% 44%
* A* * A ACF *

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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2. [Reducing taxes to give more money to Canadian families would do a better job stimulating the economy than spending on infrastructure projects.

To what extent do you agree or disagree with the following statements:

REGION HOUSEHOLD INCOME HOUSEHOLD
SK/MB Ontario Quebec Atlantic <$40K $40K - <$S60K $60K - $100K+ Kids No Kids
<$100K
Base: All Respondents 1008 127 107 73 368 237 96 216 184 268 230 247 761
Weighted 1008 135 107 66 386 242 72 270 203 244 179 230 778

Reducing taxes to give more money to Canadian
families would do a better job stimulating the

economy than spending on infrastructure

proiects.
Strongly agree 245 23 32 21 76 73 21 62 64 54 37 64 181
24% 17% 30% 32% 20% 30% 29% 23% 32% 22% 21% 28% 23%
* A* AD* AD * 1]
Somewhat agree 434 58 34 29 167 112 35 139 75 99 76 99 335
43% 43% 31% 45% 43% 46% 49% 52% 37% 41% 43% 43% 43%
Somewhat disagree 265 42 38 11 108 51 15 56 49 76 56 56 209
26% 31% 36% 17% 28% 21% 21% 21% 24% 31% 31% 24% 27%
* CEF* * * G G
Strongly disagree 64 13 3 4 35 7 1 13 15 15 10 12 53
6% 10% 3% 7% 9% 3% 1% 5% 7% 6% 5% 5% 7%
Top2Box (Agree) 679 80 65 50 243 184 56 201 139 152 113 163 516
67% 60% 61% 77% 63% 76% 78% 75% 69% 63% 63% 71% 66%
* * AD* ABD ABD* 1
Low2Box (Disagree) 329 55 41 15 144 58 16 68 64 91 66 67 262
33% 40% 39% 23% 37% 24% 22% 25% 31% 37% 37% 29% 34%
CEF* EF* * CEF * G G

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/L
Minimum Base: 30 (**), Small Base: 100 (*)
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